Retired batsman(not out)

Draw a pencil line against batsman’s innings so that it can be rubbed out if the batsman returns from
injury or suspension

Fall of wicket box  split the fall of wicket box to show batsman has retired not out and that the
fall of the 3™ wicket actually falls when batsman no 5 is out

wicket 1 2 3 4 5 6 7 8 9 10
Score 15 42 56 | 62

Batsman 2 1 3 15

Partnership | 15 27 14| 6

Batsman retired out if he is suspended for the rest of the match .

Wicket 1 2 3 4 5 6 7 8 9 10
Score 15 42 56

Batsman 2 1 3

Partnership | 15 27 14

For a bowler if he is suspended draw a vertical line down the side of the box .

If he is suspended for the whole match then draw a thick line through all the boxes as he will take
no further part in the match.
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